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1101 [ X418 GD 50 500 0 500
1113|FEAS |[EE 2 20 0 20 10 0 0 0 0 1,944 0
RiF 125 1,250 0 1,250 10 0 0 0 1,620 0 540
& 127 1,270 0 1,270
1141[54R e 6 30 0 30 5 0 0 0 2,592 0 972
& 6 30 0 30
1201[83% % 14 210 0 210 15 0 0 0 1512 0 1,350
& 14 210 0 210
1203[F ¥Ry [EH 226 2,260 0 2,260 10 0 0 0 756 0 432
B30 100 1,500 0 1,500 15 0 0 0 0 810 0
GhH 326 3,760 0 3,760
1205[[F5SNAE [EE 892 357 357 0 0.4 140 0 86 0 0 0
126 180 36 0 36 0.2 0 0 0 92 0 86
) 1,107 533 357 176
1207[ & GbH 1,105 213 203 10
1209| B & B 3 9 0 9 3 0 0 0 0 1,620 0
(&) 3 9 0 9
1301[#aF S 30 60 0 60 2 0 0 0 864 0 702
=40 1,880 564 0 564 0.3 0 0 0 97 0 92
=5 40 200 0 200 5 0 0 0 0 1,188 0
(&) 1,953 836 0 836
1311[FRE BEX 105 420 0 420 4 0 0 0 1,188 0 994
(&) 105 420 0 420
1321 [HR S 62 310 0 310 5 0 0 0 1,620 0 1,188
BiE 60 300 0 300 5 0 0 0 1,620 0 1,188
=H 40 200 0 200 5 0 0 0 1,080 0 864
=i 30 150 0 150 5 0 0 0 0 1,404 0
ED 192 960 0 960
1331 [MFB»  [Za2—D—FU| 20 200 0 200 10 0 0 0 2,160 0 1,944
Eh 20 200 0 200
1351[E—<>  [&5 180 27 0 27 0.15 0 0 0 70 0 59
Eh 180 27 0 27
1353| Tk =5 60 6 0 6 0.1 0 0 0 162 0 97
Eh 60 6 0 6
1403 | KB = =) 30 30 0 30 1 0 0 0 0 1,296 0
Eh 30 30 0 30
1407 |EBHE FogRL 60 120 0 120 2 0 0 0 0 1,566 0
Eh 60 120 0 120
1501 [HE =) 4 20 0 20 5 0 0 0 0 1,404 0
Eh 4 20 0 20
1513[A—94> [BER 310 3,100 0 3,100 10 0 0 0 3,672 0 1,620
Eh 316 3,160 0 3,160
1541 [ E& EE 360 3,600 0 3,600 10 0 0 0 1,620 0 1,296
Eh 363 3,660 0 3,660
1609[7Oval)  [FJI 11 66 0 66 6 0 0 0 2,916 0 2,592
Gh 11 66 0 66
1611[LBR E% 3 30 0 30 10 0 0 0 0 1,620 0
Gh 3 30 0 30
1612[ =L A2R |[EH 36 180 0 180 5 0 0 0 972 0 216
Gh 36 180 0 180
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1627[2=F=F  [&EJI 900 180 0 180 0.2 0 108 0 97
S 48 144 0 144 3 0 1,404 0 1,296
GhH 1,098 365 0 365
1705| L= fa] 540 43 0 43 0.08 0 0 108 0
(&) 544 59 0 59
1803 HE S 300 30 0 30 0.1 0 0 125 0
=) 150 30 0 30 0.2 0 239 0 66
& 900 105 0 105
1807 |#B f=554 250 25 0 25 0.1 0 0 49 0
E& 1,020 204 0 204 0.2 0 0 67 0
GhH 1,270 229 0 229
1809[L&HL EF 300 30 0 30 0.1 0 0 49 0
GhH 300 30 0 30
* S EEET * 18,560 32,969 917 32,052
2701[7—J)LR & [ 1 9 0 9 9 0 0 14,580 0
Eh 1 9 0 9
2731|F K EES 27 405 0 405 15 0 6,480 0 5,940
(&) 27 405 0 405
* EEET * 56 828 0 828




